# On Generalized $\boldsymbol{\Phi}$-Recurrent of Kenmotsu Type Manifolds 

Mohammed Y. Abass ${ }^{I}$<br>Habeeb M. Abood ${ }^{2 *}$<br>${ }^{1}$ Department of Mathematics, College of Science, University of Basrah, Basrah, Iraq.<br>${ }^{2}$ Department of Mathematics, College of Education for Pure Sciences, University of Basrah, Basrah, Iraq.<br>*Corresponding author: mohammedyousif42@yahoo.com, iraqsafwan2006@gmail.com*<br>*ORCID ID: https://orcid.org/0000-0003-1095-9963, https://orcid.org/0000-0002-3257-9550 *

Received 24/5/2020, Accepted 3/12/2020, Published Online First 20/9/2021, Published 1/4/2022


This work is licensed under a Creative Commons Attribution 4.0 International License.


#### Abstract

: The present paper studies the generalized $\Phi$-recurrent of Kenmotsu type manifolds. This is done to determine the components of the covariant derivative of the Riemannian curvature tensor. Moreover, the conditions which make Kenmotsu type manifolds to be locally symmetric or generalized $\Phi$-recurrent have been established. It is also concluded that the locally symmetric of Kenmotsu type manifolds are generalized $\Phi$-recurrent under suitable condition and vice versa. Furthermore, the study establishes the relationship between the Einstein manifolds and locally symmetric of Kenmotsu type manifolds.


Keywords: Einstein manifolds, Generalized $\Phi$-recurrent manifolds, Kenmotsu manifolds.

## Introduction:

The locally $\Phi$-symmetric property studied by Takahashi ${ }^{1}$ for Sasakian manifolds is a weak version of the locally symmetric property. In 1993, Jiménez and Kowalski ${ }^{2}$ classified the locally $\Phi$-symmetric Sasakian manifolds. Conversely, the recurrent property studied by Walker ${ }^{3}$ is also a weak version of the locally symmetric property, one of its generalization is $\Phi$-recurrent property that was studied by Venkatesha ${ }^{4}$ for the generalized Sasakian space forms. There are other generalizations and extensions of recurrent curvature studied by researchers like Tamássy and Binh ${ }^{5}$, Venkatesha et al. ${ }^{6}$ and Siddiqi et al. ${ }^{7}$.

## Preliminaries:

The notations $M^{2 n+1}, X(M), d, \nabla$ and $\theta$ were used to denote the smooth manifold $M$ of dimension $2 n+1$, the Lie algebra of smooth vector fields of $M$, the exterior differentiation operator, the Riemannian connection and the Riemannian connection form with components $\theta_{j}^{i}$ respectively, where $i, j=0,1, \ldots, 2 n$.
Definition $1^{8} \mathrm{~A}$ smooth manifold $M^{2 n+1}$ with the quadruple ( $\Phi, \xi, \eta, g$ ) is called an almost contact metric manifold or briefly ACR - manifold, where $\Phi$ is $(1,1)$-tensor, $\xi$ is a characteristic vector field, $g$ is a Riemannian metric and $\eta(\cdot)=g(\cdot, \xi)$, such that the following conditions hold:

$$
\begin{array}{cc}
\Phi(\xi)=0 ; & \eta(\xi)=1 ; \quad \eta \circ \Phi=0 ; \quad \Phi^{2} \\
=-i d+\eta \otimes \xi ; \\
g(\Phi X, \Phi Y)= & g(X, Y)-\eta(X) \eta(Y) ; \quad \forall X, Y \\
& \in X(M) .
\end{array}
$$

In the present article, the components of the Riemannian metric $g$ of $A C R$-manifold $M^{2 n+1}$ can be established as follows ${ }^{8}$ :

$$
\begin{align*}
& \quad g_{00}=1 ; \quad g_{a 0}=g_{\hat{a} 0}=g_{a b}=g_{\hat{a} \hat{b}}= \\
& 0 ; \quad g_{\hat{a} b}=\delta_{b}^{a} ; \quad g_{i j}=g_{j i} \tag{1}
\end{align*}
$$

where $a, b=1,2, \ldots, n$, and $\hat{a}=a+n$. Moreover, from ${ }^{3}$ the components of the endomorphism $\Phi$ are given by

$$
\begin{aligned}
\Phi_{0}^{0}=\Phi_{0}^{a}=\Phi_{0}^{\hat{a}} & =\Phi_{\hat{b}}^{a}=\Phi_{b}^{\hat{a}}=0 ; \quad \Phi_{b}^{a} \\
& =\sqrt{-1} \delta_{b}^{a} ; \quad \Phi_{i}^{j}=-\Phi_{\hat{\jmath}}^{\hat{\imath}}
\end{aligned}
$$

where $\hat{\imath}=i$ and $\hat{0}=0$. So, for all $X, Y \in X(M)$, the following relations are attained:
$X=X^{i} \varepsilon_{i} ; \quad g(X, Y)=g_{i j} X^{i} Y^{j} ; \quad \Phi(X)=\Phi_{j}^{i} X^{j} \varepsilon_{i}$, over $A$-frame $\left(p ; \varepsilon_{0}=\xi, \varepsilon_{1}, \ldots, \varepsilon_{2 n}\right)$ of $M^{2 n+1}$, where $\quad X^{i} \in C^{\infty}(M), \quad p \in M, \quad \varepsilon_{a}=\frac{1}{\sqrt{2}}$ (id -$\sqrt{-1} \Phi) e_{a}, \quad \varepsilon_{\hat{a}}=\frac{1}{\sqrt{2}}(i d+\sqrt{-1} \Phi) e_{a}, \quad$ and $\left\{e_{1}, \ldots, e_{n}\right\}$ is a complex basis of the distribution $\operatorname{ker}(\eta)$. A set of all such $A$-frames given above is called an associated $G$-structure space ( $A G$-structure space). For more detail, citations ${ }^{8}$ and ${ }^{9}$ may be referred to.

Definition $2{ }^{10}$ An ACR -manifold such that the following identity:

$$
\begin{gathered}
\nabla_{X}(\Phi) Y-\nabla_{\Phi X}(\Phi) \Phi Y=-\eta(Y) \Phi X, \quad \forall X, Y \\
\in X(M)
\end{gathered}
$$

hold is called a Kenmotsu type manifold.
Suppose that $\left\{\omega, \omega^{1}, \ldots, \omega^{2 n}\right\}$ are coframe over $A G$-structure space of Kenmotsu type manifold such that $\omega^{\hat{a}}=\omega_{a}=\overline{\omega^{a}}$, where $\bar{\alpha}$ is the complex conjugate of $\alpha$ and $\bar{\omega}=\omega$. Then from ${ }^{10}$, the following theorem is obvious:
Theorem 1 Suppose that $M^{2 n+1}$ is the Kenmotsu type manifold, then the Cartan's first structure equations are given by

1. $d \omega=0$;
2. $d \omega^{a}=-\theta_{b}^{a} \wedge \omega^{b}+B_{c}^{a b} \omega^{c} \wedge \omega_{b}-\omega^{a} \wedge \omega$;
3. $d \omega_{a}=\theta_{a}^{b} \wedge \omega_{b}+B_{a b}^{c} \omega_{c} \wedge \omega^{b}-\omega_{a} \wedge \omega$.

From ${ }^{10}$, the components of the Riemannian connection form $\theta$ of the Kenmotsu type manifold are given by
$\theta_{0}^{0}=0 ; \quad \theta_{0}^{a}=\omega^{a} ; \quad \theta_{b}^{a} ; \quad \theta_{\hat{b}}^{a}=-B_{c}^{a b} \omega^{c}$;
and the others components can be established from the relations $\theta_{j}^{i}+\theta_{\hat{\imath}}^{\hat{\jmath}}=0$ and $\theta_{j}^{i}=\overline{\theta_{\hat{\jmath}}^{\hat{\imath}}}$, where $c=1, \ldots, n$, while $B^{a b}{ }_{c}$ are the components of the first Kirichenko tensor that mentioned in ${ }^{11}$ with the properties $B_{c}^{a b}=-B_{c}^{b a}$ and $\overline{B_{c}^{a b}}=B_{a b}{ }^{c}$.
Theorem $2{ }^{10}$ On the AG - structure space, the Kenmotsu type manifold $M^{2 n+1}$ has the following Cartan's second structure equations:

1. $d \theta_{b}^{a}=-\theta_{c}^{a} \wedge \theta_{b}^{c}+A_{b c}^{a d} \omega^{c} \wedge \omega_{d}+A_{b c d}^{a} \omega^{c} \wedge$ $\omega^{d}+A_{b}^{a c d} \omega_{c} \wedge \omega_{d}$;
2. $\quad d B^{a b}=B_{d}^{a b} \theta_{c}^{d}-B_{c}^{d b} \theta_{d}^{a}-B_{c}^{a d} \theta_{d}^{b}+$ $B^{a b}{ }_{c d} \omega^{d}+B_{c}^{a b d} \omega_{d}-B^{a b}{ }_{c} \omega$;
3. $d B_{a b}^{c}=-B_{a b}^{d} \theta_{d}^{c}+B_{d b}{ }^{c} \theta_{a}^{d}+B_{a d}{ }^{c} \theta_{b}^{d}+$ $B_{a b}^{c d} \omega_{d}+B_{a b d}^{c} \omega^{d}-B_{a b}^{c} \omega$,
such that

$$
\begin{gathered}
A_{[b c]}^{a d}-B_{[c b]}^{a d}-B_{[b}^{a h} B_{|h| c]}^{d}=0 ; \\
A_{b}^{a c d}-B_{b}^{a[c d]}+B^{a[c} B_{h}^{|h| d]}=0 ; \quad A_{[b c d]}^{a}=0 ; \\
\quad A_{a d}^{[b c]}+B_{a d}{ }^{[c b]}+B_{a h}{ }^{[b]} B_{d}^{|h| c]}=0 ; \\
A_{a c d}^{b}+B_{a[c d]}^{b}-B_{a[c}{ }_{[c}^{h} B_{|h| d]}^{b}=0 ; \quad A_{a}^{[b c d]}=0 ;
\end{gathered}
$$

where all indexes have range from 1 to $n$, and $[\cdot|\cdot| \cdot]$ denotes the anti-symmetric operator of the involving indexes except $|\cdot|$.

Denote $R$ and $r$ the Riemann curvature tensor with components $R_{j k l}^{i}$ and Ricci tensor with components $r_{i j}$ of the $A C R$-manifold respectively, where $k, l=0,1, \ldots, 2 n$.
Theorem $3^{10}$ The components of $R$ for the Kenmotsu type manifold over the AG - structure space are given by

1. $\quad R_{0 c 0}^{a}=-\delta_{c}^{a} ; \quad R_{\hat{b} c d}^{a}=2\left(B_{[c d]}^{a b}-\right.$
$\left.\delta_{[c}^{a} \delta_{d]}^{b}\right) ; \quad R_{\hat{b} c \hat{d}}^{a}=B_{c}^{a b d}-B^{a b}{ }_{h} B^{h d}$;
2. $\quad R_{b c d}^{a}=2 A_{b c d}^{a} ; \quad R_{b c \hat{d}}^{a}=A_{b c}^{a d}-B_{c}^{a h} B_{b h}^{d}-$ $\delta_{c}^{a} \delta_{b}^{d}$,
where $\quad R(X, Y) Z=R_{j k l}^{i} X^{k} Y^{l} Z^{j} \varepsilon_{i}$, and the remaining components of $R$ are given by the first Bianchi identity or the conjugate (i.e. $R_{j k l}^{i}=\overline{R_{\hat{\jmath} \hat{k} \hat{l}}^{\hat{\imath}}}$ ) to the above components or identical to zero.
Theorem $4^{10}$ The components of $r$ for the Kenmotsu type manifold over the AG - structure space are given as follows:
3. $r_{00}=-2 n ; \quad r_{a b}=-2 A_{a b c}^{c}+B_{c a b}^{c}-$ $B_{c a}{ }^{h} B_{h b}{ }^{c}$;
4. $\quad r_{a 0}=0 ; \quad r_{\hat{a} b}=-2\left(n \delta_{b}^{a}+B_{[b c]}^{c a}\right)+A_{c b}^{a c}-$ $B_{b}^{a h} \quad B_{c h}{ }^{c}$,
where $r(X, Y)=r_{i j} X^{i} Y^{j}, \quad r_{i j}=r_{j i} \quad$ and the remaining components of $r$ are given by the property $r_{\hat{\imath} \hat{\jmath}}=\overline{r_{i j}}$.
Definition 3 An ACR -manifold $\left(M^{2 n+1}, \Phi, \xi, \eta, g\right)$ with Ricci tensor $r$, is called
5. Einstein manifold, if $r_{i j}=\lambda g_{i j}$, where $\lambda$ is an Einstein constant.
6. has $\Phi$-invariant Ricci tensor, if $r_{a 0}=r_{a b}=0$. Definition $4{ }^{3,}$ 4, ${ }^{6}$ An ACR -manifold $\left(M^{2 n+1}, \Phi, \xi, \eta, g\right)$ with $R$ as Riemann curvature tensor, is called
7. Locally symmetric, if $\nabla_{X}(R)(Y, Z) W=0$, where $X, Y, Z, W \in X(M)$.
8. Generalized $\Phi-$ Recurrent, if there are nonzero 1 -forms $\alpha$ and $\beta$ such that
$\Phi^{2}\left(\nabla_{X}(R)(Y, Z) W\right)$

$$
\begin{aligned}
& =\alpha(X) R(Y, Z) W \\
& +\beta(X)\{g(Z, W) Y-g(Y, W) Z\}
\end{aligned}
$$

## Locally symmetric Kenmotsu type manifolds and its weakened version:

In this section, the Cartan's second structure equations in Theorem 2 are differentiated exteriorly at the beginning. Then on $A G$-structure space of the Kenmotsu type manifold $M^{2 n+1}$, suitable smooth functions exist such that:
$\Delta A_{b c d}^{a}=A_{b c d h}^{a} \omega^{h}+A_{b c d}^{a h} \omega_{h}-2 A_{b c d}^{a} \omega ;$
$\Delta A_{b c}^{a d}=\tilde{A}_{b c h}^{a d} \omega^{h}+\tilde{A}_{b c}^{a d h} \omega_{h}-2 A_{b c}^{a d} \omega ;$
$\Delta B^{a b}{ }_{c d}=B^{a b}{ }_{c d h} \omega^{h}+B_{c d}^{a b h} \omega_{h}-2 B_{c d}^{a b} \omega$;
where $h=1, \ldots, n$, and

$$
\begin{equation*}
\Delta A_{b c d}^{a}=d A_{b c d}^{a}+A_{b c d}^{h} \theta_{h}^{a}- \tag{5}
\end{equation*}
$$

$A_{h c d}^{a} \theta_{b}^{h}-A_{b h d}^{a} \theta_{c}^{h}-A_{b c h}^{a} \theta_{d}^{h}$;

$$
\Delta A_{b c}^{a d}=d A_{b c}^{a d}+A_{b c}^{h d} \theta_{h}^{a}+
$$

$A_{b c}^{a h} \theta_{h}^{d}-A_{h c}^{a d} \theta_{b}^{h}-A_{b h}^{a d} \theta_{c}^{h}$;
$\Delta B^{a b}{ }_{c d}=d B^{a b}{ }_{c d}+B_{c d h}^{h b} \theta_{h}^{a}+$
$B^{a h}{ }_{c d} \theta_{h}^{b}-B^{a b}{ }_{h d} \theta_{c}^{h}-B_{c h}^{a d} \theta_{d}^{h}$.

Now, the components of $\nabla R$ on $A C R$-manifold $M^{2 n+1}$ can be established with respect to the metric $g$ from the following identity (12):

$$
\begin{equation*}
d R_{i j k l}-R_{t j k l} \theta_{i}^{t}-R_{i t k l} \theta_{j}^{t}-R_{i j t l} \theta_{k}^{t}- \tag{6}
\end{equation*}
$$

$R_{i j k t} \theta_{l}^{t}=R_{i j k l, t} \omega^{t}$;
where $R(X, Y, Z, W)=g(R(Z, W) Y, X), \quad R_{i j k l}=$ $R_{j k l}^{\hat{\imath}}, t=0,1, \ldots, 2 n$ and

$$
R_{i j k l, t}=g\left(\nabla_{\varepsilon_{t}}(R)\left(\varepsilon_{k}, \varepsilon_{l}\right) \varepsilon_{j}, \varepsilon_{i}\right)
$$

Theorem 5 The components of $\nabla R$ on AG - structure space of the Kenmotsu type manifold $M^{2 n+1}$ are given by

1. $R_{a 0 b 0,0}=R_{a 0 b 0, h}=R_{a 0 b 0, \widehat{h}}=0$;
2. $R_{\hat{a} 0 b 0,0}=R_{\hat{a} 0 b 0, h}=R_{\hat{a} 0 b 0, \widehat{h}}=0$;
3. $R_{a 0 b c, 0}=R_{a 0 b c, h}=0 ; \quad R_{a 0 b c, \widehat{h}}=2 A_{a b c}^{h}$;
4. $\quad R_{\hat{a} 0 b c, 0}=0 ; \quad R_{\hat{a} 0 b c, h}=-2 A_{h b c}^{a} ; \quad R_{\hat{a} 0 b c, \widehat{h}}=$ $-2 B_{[b c]}^{a h}$;
5. $\quad R_{a 0 \hat{b} c, 0}=0 ; \quad R_{a 0 \hat{b} c, h}=-2 A_{c a h}^{b} ; \quad R_{a 0 \hat{b} c, \widehat{h}}=$ $-A_{a c}^{h b}+B_{c}^{h d} B_{a d}^{b}$;
6. $\quad R_{a b c d, 0}=R_{a b c d, h}=0 ; \quad R_{a b c d, \widehat{h}}=$ $4\left\{B_{f[a}^{h} A_{b] c d}^{f}+B_{f[c}^{h} A_{d] a b}^{f}\right\} ;$
7. $R_{\hat{a} b c d, 0}=-4 A_{b c d}^{a} ; \quad R_{\hat{a} b c d, h}=2 A_{b c d h}^{a}$;
8. $R_{\hat{a} b c d, \widehat{h}}=2\left\{A_{b c d}^{a h}+B_{[c d]}^{a f} B_{f b}{ }^{h}+\right.$

$$
\left.A_{b[c}^{a f} B_{|f| d]}^{h}+B_{f[c}^{h} B_{d]}^{a \tilde{f}} B_{b \tilde{f}}^{f}\right\} ;
$$

9. $\quad R_{\hat{a} b c \hat{d}, 0}=-2\left\{A_{b c}^{a d}-B_{c}^{a f}{ }_{c} B_{b f}^{d}\right\}$;
10. $R_{\hat{a} b c \hat{d}, h}=2 A_{b c f}^{a} B_{h}^{f d}-2 A_{c f b}^{d} B_{h}^{f a}-$ $B^{a f}{ }_{c} B_{b f h}{ }^{d}-B_{b f}{ }^{d} B_{c h}^{a f}+\tilde{A}_{b c h}^{a d} ;$
11. $R_{\hat{a} b c \hat{a}, \widehat{h}}=\tilde{A}_{b c}^{a d h}-B_{b f}^{d} B_{c}^{a f h}-B_{c}^{a f} B_{b f}^{d h}+$ $2 A_{c}^{d a f} B_{f b}{ }^{h}-2 A_{b}^{a f d} B_{f c}{ }^{h}$;
12. $R_{\hat{a} \hat{b} c d, 0}=-4 B_{[c d]}^{a b} ; \quad R_{\hat{a} \hat{b} c d, h}=2 B_{[c d] h}^{a b}+$ $4 B^{f[b}{ }_{h} A_{f c d}^{a]}$;
13. $R_{\hat{a} \hat{b} c d, \widehat{h}}=2 B_{[c d]}^{a b h}+4 B_{f\left[\begin{array}{l}h \\ h\end{array} A_{c]}^{f a b} \text {; }\right.}^{\text {; }}$

Proof. The results follow from the equation (6) by taking

$$
(i, j, k, l)=(a, 0, b, 0),(\hat{a}, 0, b, 0),(a, 0, b, c)
$$

$(\hat{a}, 0, b, c),(a, 0, \hat{b}, c),(a, b, c, d)$,
$(\hat{a}, b, c, d),(\hat{a}, b, c, \hat{d}),(\hat{a}, \hat{b}, c, d)$;
and using the Theorem 3 and the equation (2). For instance, if $(i, j, k, l)=(a, 0, b, 0)$, then the equation (6) given by

$$
\begin{array}{r}
d R_{a 0 b 0}-R_{t 0 b 0} \theta_{a}^{t}-R_{a t b 0} \theta_{0}^{t}-R_{a 0 t 0} \theta_{b}^{t} \\
-R_{a 0 b t} \theta_{0}^{t}=R_{a 0 b 0, t} \omega^{t} .
\end{array}
$$

The above equation can be simplified by using the Theorem 3 and the equation (2) as the following:

$$
\begin{aligned}
R_{a 0 b 0, t} \omega^{t} & =-R_{\widehat{h} 0 b 0} \theta_{a}^{\widehat{h}}-R_{a 0 \widehat{h} 0} \theta_{b}^{\widehat{h}} \\
& =\delta_{b}^{h} \theta_{a}^{\widehat{h}}+\delta_{a}^{h} \theta_{b}^{\widehat{h}} \\
& =\theta_{a}^{\hat{b}}+\theta_{b}^{\hat{a}}=0
\end{aligned}
$$

So, $\quad R_{a 0 b 0, h} \omega^{h}+R_{a 0 b 0, \overparen{h}} \omega_{h}+R_{a 0 b 0,0} \omega=0$ and then

$$
R_{a 0 b 0, h}=R_{a 0 b 0, \widehat{h}}=R_{a 0 b 0,0}=0
$$

The same technique was used for the other cases, while for some cases, the equations (3), (4), or (5) must be used. For example, if $(i, j, k, l)=$ ( $\hat{a}, b, c, d$ ), then the equation (6) given by

$$
\begin{aligned}
d R_{\hat{a} b c d}-R_{t b c d} & \theta_{\hat{a}}^{t}-R_{\hat{a} t c d} \theta_{b}^{t}-R_{\hat{a} b t d} \theta_{c}^{t} \\
& -R_{\hat{a} b c t} \theta_{d}^{t}=R_{\hat{a} b c d, t} \omega^{t} .
\end{aligned}
$$

From the Theorem 3, it follows that

$$
\begin{aligned}
& R_{\hat{a} b c d, t} \omega^{t}=2 d A_{b c d}^{a}-R_{\widehat{h} b c d} \theta_{\hat{a}}^{\widehat{h}}-R_{\hat{a} h c d} \theta_{b}^{h} \\
&-R_{\hat{a} \hat{h} c d} \theta_{b}^{\widehat{h}}-R_{\hat{a} b h d} \theta_{c}^{h} \\
&-R_{\hat{a} b \widehat{h} d} \theta_{c}^{\widehat{h}}-R_{\hat{a} b c h} \theta_{d}^{h} \\
&-R_{\hat{a} b c \widehat{h}} \theta_{d}^{\widehat{h}} ; \\
&=2 \Delta A_{b c d}^{a}-R_{\hat{a} \hat{h} c d} \theta_{b}^{\hat{h}}-R_{\hat{a} b \hat{h} d} \theta_{c}^{\widehat{h}}-R_{\hat{a} b c \hat{h}} \theta_{d}^{\widehat{h}} ; \\
&=2 \Delta A_{b c d}^{a}-R_{\hat{a} \hat{f} c d} \theta_{b}^{\hat{f}}+R_{\hat{a} b d \hat{f}} \theta_{c}^{\hat{f}}-R_{\hat{a} b c \hat{f}} \theta_{d}^{f} ;
\end{aligned}
$$

where $f=1,2, \ldots, n$. According to the equation (2), $\theta_{b}^{\hat{f}}=-B_{f b}{ }^{h} \omega_{h}$. So regarding Theorem 3, the equation (3) and the previous results, the following is obtained:

$$
\begin{gathered}
R_{\hat{a} b c d, 0}=-4 A_{b c d}^{a} ; \\
R_{\hat{a} b c d, h}=2 A_{b c d h}^{a} ; \\
R_{\hat{a} b c d, \widehat{h}}= \\
2\left\{A_{b c d}^{a h}+B_{[c d]}^{a f} B_{f b}^{h}+A_{b[c}^{a f} B_{|f| d]}^{h}+\right. \\
\left.B_{f[c}^{h} B_{d]}^{a \tilde{f}} B_{b \tilde{f}}^{f}\right\} .
\end{gathered}
$$

Now, since the proof of the remaining results becomes obvious, it is deleted.
Theorem 6 The Kenmotsu type manifold $M^{2 n+1}$ is locally symmetric if and only if, the following conditions hold:

$$
A_{b c d}^{a}=0 ; \quad B_{[c d]}^{a b}=0 ; \quad A_{b c}^{a d}=B_{c}^{a h} B_{b h}^{d} .
$$

Proof. Suppose that $M^{2 n+1}$ is locally symmetric, then $\nabla_{U}(R)(Z, W) Y=0$, thus giving:

$$
\begin{gathered}
g\left(\nabla_{U}(R)(Z, W) Y, X\right)=0 ; \quad \forall X, Y, Z, W, U \\
\in X(M) .
\end{gathered}
$$

Therefore, the components $R_{i j k l, t}$ are identically zero for all $i, j, k, l, t=0,1, \ldots, 2 n$. Regarding Theorem 5 gives $A_{b c d}^{a}=0 ; \quad B_{[c d]}^{a b}=0 ; \quad$ and $A_{b c}^{a d}=B^{a h}{ }_{c} B_{b h}{ }^{d}$. Conversely, if $A_{b c d}^{a}=$ $0 ; \quad B_{[c d]}^{a b}=0 ; \quad A_{b c}^{a d}=B_{c}^{a h} B_{b h}{ }^{d}$, then $\Delta A_{b c d}^{a}=$ $0 ; \Delta B^{a b}{ }_{[c d]}=0$; and

$$
\begin{aligned}
& \Delta A_{b c}^{a d}=\left\{B_{c}^{a f} B_{b f h}^{d}+B_{b f}^{d} B_{c h}^{a f}\right\} \omega^{h} \\
&+\left\{B_{b f}^{d} B_{c}^{a f h}+B^{a f}{ }_{c} B_{b f}{ }^{d h}\right\} \omega_{h} \\
&-2 A_{b c}^{a d} \omega .
\end{aligned}
$$

Therefore, regarding the equations (3), (4), and (5) and Theorem 5, $R_{i j k l, t}=0$ is obtained. Then $M^{2 n+1}$ is locally symmetric.
Theorem 7 The locally symmetric Kenmotsu type manifold $M^{2 n+1}$ is an Einstein manifold with
$\lambda=-2 n$ if and only if the following condition holds:

$$
B_{c a b}^{c}=B_{c a}^{h} B_{h b}{ }^{c}
$$

Proof. Suppose that $M^{2 n+1}$ is an Einstein manifold with $\lambda=-2 n$, then, from Definition 3 and equation (1), the following is obtained:

$$
r_{00}=-2 n ; \quad r_{a 0}=r_{a b}=0 ; \quad r_{\hat{a} b}=-2 n \delta_{b}^{a}
$$

Since $M^{2 n+1}$ is locally symmetric Kenmotsu type manifold, Theorem 4 and 6 and the above relations lead to the following condition. Conversely, if the condition is valid, then the conditions of the Theorem 6 with the Theorem 4 lead to the result.
Corollary 1 The locally symmetric Kenmotsu type manifold $M^{2 n+1}$ is an Einstein manifold with $\lambda=-2 \mathrm{n}$ if and only if $M^{2 n+1}$ has $\Phi$-invariant Ricci tensor.
Proof. The assertion of this corollary follows from the Definition 3 and Theorem 7.

Now, suppose that $\left(M^{2 n+1}, \Phi, \xi, \eta, g\right)$ is generalized $\Phi$-recurrent $A C R$-manifold, then $\forall U, W, Y, Z \in X(M)$ gives the following:

$$
\begin{aligned}
\Phi^{2}\left(\nabla_{U}(R)(Z, W) Y\right) & \\
& =\alpha(U) R(Z, W) Y \\
& +\beta(U)\{g(Y, W) Z-g(Y, Z) W\}
\end{aligned}
$$

Since for all $X \in X(M)$, the following holds true: $g\left(\Phi^{2}\left(\nabla_{U}(R)(Z, W) Y\right), X\right)$

$$
\begin{aligned}
& =g\left(\nabla_{U}(R)(Z, W) Y, \Phi^{2}(X)\right) \\
& =-g\left(\nabla_{U}(R)(Z, W) Y, X\right)+
\end{aligned}
$$

$\eta(X) g\left(\nabla_{U}(R)(Z, W) Y, \xi\right)$,
then the components of the generalized $\Phi$-recurrent $A C R$-manifold are:
$-R_{i j k l, t}+\eta_{i} R_{0 j k l, t}=\alpha_{t} R_{i j k l}+\beta_{t}\left\{g_{i k} g_{j l}-\right.$ $\left.g_{i l} g_{j k}\right\}$.
So, if $M^{2 n+1}$ is the manifold of Kenmotsu type, then regarding Theorem 3 and equation (1), equation (7) becomes as follows:

1. $R_{a 0 b 0, t}=0$;
2. $\quad R_{\hat{a} 0 b 0, t}=\alpha_{t} \delta_{b}^{a}-\beta_{t} \delta_{b}^{a}$;
3. $R_{a 0 b c, t}=0$;
4. $R_{\hat{a} 0 b c, t}=0$;
5. $R_{a 0 \hat{b} c, t}=0$;
6. $R_{a b c d, t}=0$;
7. $R_{\hat{a} b c d, t}=-2 \alpha_{t} A_{b c d}^{a}$;
8. $\quad R_{\hat{a} b c \hat{d}, t}=\alpha_{t}\left(-A_{b c}^{a d}+B_{c}^{a h} B_{b h}^{d}+\delta_{c}^{a} \delta_{b}^{d}\right)-$ $\beta_{t} \delta_{c}^{a} \delta_{b}^{d}$;
9. $\quad R_{\hat{a} \hat{b} c d, t}=2 \alpha_{t}\left(-B_{[c d]}^{a b}+\delta_{[c}^{a} \delta_{d]}^{b}\right)-$ $2 \beta_{t} \delta_{[c}^{a} \delta_{d]}^{b}$.

Regarding Theorem 5, from item 2 in the above discussion, $\alpha_{t}=\beta_{t}$ is obtained, implying that the 1 -forms $\alpha$ and $\beta$ must be equal. Moreover, combining the above items again with Theorem 5 leads to deducing the following theorem:

Theorem 8 The Kenmotsu type manifold $M^{2 n+1}$ is a manifold of generalized $\Phi$-recurrent curvature if and only if the following conditions hold:

$$
\begin{gathered}
\alpha=\beta ; \quad A_{b c d}^{a}=0 ; \quad B_{[c d]}^{a b}=0 ; \quad A_{b c}^{a d} \\
\\
=B_{c}^{a h} B_{b h}^{d} .
\end{gathered}
$$

Corollary 2 The Kenmotsu type manifold $M^{2 n+1}$ is locally symmetric if and only if $M^{2 n+1}$ is a generalized $\Phi$-recurrent with $\alpha=\beta$.
Proof. The result follows from Theorem 6 and Theorem 8.
Theorem 9 The Kenmotsu type manifold $M^{2 n+1}$ satisfies the following relations:

1. $g\left(\nabla_{\xi}(R)(Z, W) Y, X\right)=-2 g(R(Z, W) Y+$ $g(Y, W) Z-g(Y, Z) W, X)$;
2. $\quad g\left(\nabla_{U}(R)(Z, W) \xi, X\right)=-g(R(Z, W) U+$ $g(U, W) Z-g(U, Z) W, X)$;
3. $\quad g\left(\nabla_{U}(R)(Z, \xi) Y, X\right)=-g(R(Z, U) Y+$ $g(Y, U) Z-g(Y, Z) U, X)$.
Proof. Since the components of $g\left(\nabla_{\xi}(R)(Z, W) Y, X\right), \quad g\left(\nabla_{U}(R)(Z, W) \xi, X\right) \quad$ and $g\left(\nabla_{U}(R)(Z, \xi) Y, X\right)$ are $R_{i j k l, 0}, R_{i 0 k l, t}$ and $R_{i j k 0, t}$, respectively, the claim of the present theorem is achieved from Theorem 5, Theorem 3 and equation (1).

## Conclusion:

The present paper concludes that the locally symmetric, $\Phi-$ recurrent and the generalized $\Phi-$ recurrent properties can be studied for any $A C R-$ manifold in a simple way, represented by $A G-$ structure space. Also, the axis of the present study required components of the Riemannian curvature tensor which computed on the $A G$ - structure space and the remaining results were established from them.

## Authors' declaration:

- Conflicts of Interest: None.
- Ethical Clearance: The project was approved by the local ethical committee in University of Basrah.


## Authors' contributions statement:

MY Abass concluded Theorem 5, Theorem 6, and Theorem 9.
HM Abood deduced Theorem 7, Theorem 8, and their corollaries.

## References:

1. Takahashi T. Sasakian $\Phi$-symmetric spaces. Tohoku Math. J. 1977; 29 (1): 91-113.
2. Jiménez JA, Kowalski O. The classification of $\Phi$-symlnetric Sasakian manifolds. Mh. Math. 1993; 115 (1-2): 83-98.
3. Walker AA. On Ruses spaces of recurrent curvature. Proc. London Math. Soc. 1950; 52 (1): 36-64.
4. Venkatesha SB. Some results on generalized Sasakian space forms. Appl. Math. Nonlinear Sci. 2020; 5 (1): 85-92.
5. Tamássy L, Binh TQ. On weak symmetries of Einstein and Sasakian manifolds. Tensor. N. S. 1993; 52: 140-148.
6. Venkatesha V, Kumara HA, Naik DM. On a class of generalized $\Phi$-recurrent Sasakian manifold. J. Egyptian Math. Soc. 2019; 27 (1): 1-14.
7. Siddiqi MD, Siddiqui SA, Haseeb A, Ahmad M. On extended generalized $\Phi$-recurrent $\alpha$-Kenmotsu manifolds. Palestine J. Math. 2019; 8 (1): 160-168.
8. Ignatochkina LA. Induced transformations for almost Hermitian structure of linear extensions.

Chebyshevskii Sb. 2017; 18 (2): 144-153.
9. Rustanov AR, Kazakova ON, Kharitonova SV. Contact analogs of Grays identity for $\mathrm{NC}_{10^{-}}$ manifolds, Sib. Èlektron. Mat. Izv. 2018; 15: 823828. (in Russian).
10. Abass MY, Abood HM. Ф-Holomorphic sectional curvature and generalized Sasakian space forms for a class of Kenmotsu type. J. Basrah Researches (Sciences). 2019; 45 (2): 108-117.
11. Kirichenko VF, Dondukova NN. Contactly geodesic transformations of almost-contact metric structures. Math. Notes. 2006; 80 (2): 204-213.
12. Kirichenko VF, Kharitonova SV. On the geometry of normal locally conformal almost cosymplectic manifolds. Math. Notes. 2012; 91 (1): 34-45.

> 1 ${ }^{1}$ قسم الرياضيات، كلية العلوم، جامعة البصرة، البصرة، العراق.
> 22 قسم الرياضيات، كلية التربية للعلوم الصرفة، جامعةة البصرة، البصرة، العراق.

> الخلاصة:
> البحث الحالي يدرس تعميم متكرر - $\Phi$ لمنطويات من النوع كينموتسو. هذا البحث عمل على تحديد مركبات المشتقة الاتجاهية لتتسر
البحث ايضاً استتتج بان المنطويات من النوع كينموتسو المتناظرة محلياً تكون تعميم متكرر - $\Phi$ تحت شرط مناسب والعكس بالعكس. أضف
الى ذلك، استتنتاج اللار اسة للعلاقة بين منطويات اينشتاين ومنطويات متتاظرة محلياً من نوع كينموتسو.

